D121-1 Nielsen, Steffen — 11 points
6" Tourney FRME, 2020
15t Prize

D121-2 Nielsen, Steffen — 9,5 points
ChessStar, 2021
2" Prize

+ 4+5

On the first move, White must predict a black rook sacrifice on g3 and find a way to defend against it. 1.2g2! Locking up the
bishop, which White is hoping to liberate. White would like to play ®h2, £g2 and £h3, but 1.&2h2 does not work yet:
[Logical try 1.2h2? &f1! (1...Ea3? 2.5e1 Hal 3.5)d3 Ed1 4.£f3=) 2.£g2 (2.€2g2 allows Black to bring his king into play,
capturing the d-pawn. Eventually White will be in zugzwang.) 2...E:f2 3.9e1 Ef1 4.5)d3 Ed1 5.¢g3 Z:d3+ 6.2 Eg3!! and
the bishop is lost, for instance 7.£2.e4 He3 (7...e1%+) ] 1...Ed1 Hoping for 2.2h2 Ef1!, transferring to the 1.&h2 line.
[1...2g7 2.d6 &f6 3.d7 Le7 4.%h2=; 1..Bf1 2.d6; 1...Ea3 2.5e1] 2.d6! E:d6 3.€h2! White has lost the pawn on d5 for no
obvious compensation. [3.2e1? Ed1 4.5f3 Ef1 and White has no sensible move.; 3.2g1? Ed3 4.2el &d1; 3.%g3? Ed3]
3...Hd3 If Black instead comes closer with the king, White plays his plan of 4.£g2 and 5.2h3 [3...Eh6+ 4.&g2 Ed6 5.2h2 is
a waste of time.] 4.9 e1 Ed1 5.3 [5.4)c2? Ec1] 5...8f1 6.£g2 H:f2 7.5)e1 Hf1 8.5)d3 [8.5)f3? E:f3 This is now possible
because Black has captured on f2.] 8...Ed1 After visiting f2 the rook is about to return to d3. 9.&g3 [9.£f3? &:d3 10.£.:e2
Ed2—+] 9...E:d3+ 10.&f2 He3 [Black's master plan 10...Eg3!? is now without effect, because of 2.d6! After
11.£.d5/£.c6/£b7/£.a8 White will quickly round up the pawn on e2.] 11.&e1= The pawn will be lost.

1.b7 e1W 2.b8W+ Wg3 Otherwise the king is forced into the open and mated. 3.£g1+ A small tactic that White likes so
much that he uses it 4 times. 3...&h3 [3...&2g2 4.£b7+ is one move quicker for White.] 4.£.c8+ g2 [4...2h4 5. Wha+ ©h5
6.Wb5+ Wos5 7. Wes+ Wgb 8.2g4+ g5 9.L2e3++-] 5.2b7+ 2h3 6. Wc8+ Wga [6..2h4 7.Wc4+ (or 7.Wd8+) 7. Wgs 8. 212+
©h3 9.£.c8] 7.8g2+ g3 [7...&h4 8.2f2+ and again the king will be caught in open fire.] 8.£h2+ [Try 8.£f2+? &:g2
9.W:g4+ :f2 = The king supports the pawn with a clear draw.] 8...&2h4 9.Wd8+ Wg5 [9...&2h5 10.We8+ (10.Wd5+) ]
10.£.g3+ Pga [10...2h5 11.23++-] 11.8h3+ [Try 11.£f3+? £:g3 12.W:g5+ &:f3= and again the pawn is supported.]
11...2h5 [11...2:g3 12.W:g5+ &:h3 13. Wg7+- (13. Wf5++- 2g3) ] 12.We8+ Wgb [12...2h6 eg 13. Web+ Th5 14. W7+ Wee
15.9f3+] 13. 24+ [13.We5+ (?) 13...Wg5 14. We8+ Wge waste of time] 13...2g5 [13...22h6 14.24+] 14.2.h4+ [14. 254+
D:g4 15.W:g6+ &:f4=] 14...h6 [14...2:g4 15.W:g6+ L:h4+-] 15.We3+ The end of the systematic movement 15...&h7
16.We7+ 2h6 17.82! [17.We3+ (?) waste of time] 17...W:g4 18.8e3+ MAIN A 18...&h5 [or MAIN B 18...<2g6 19.Wf7#]
19.Wh7#.



D121-3 Nielsen, Steffen — 11 points
JT Jan Timman - 70, 2021
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D121-4 Nielsen, Steffen — 9 points
9t FIDE World Cup, 2021
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1.23 [1.g8%W?? Wh5+—+] 1...We5 [1.. W3 2.g8W &f5+ 3. Wo7 Ehe+ 4.2g8 Hgb eg 5.8d5+; 1...Wg5 2.g8W W:g8+ 3.:g8
and the a-pawn decides.; 1...He5 2. 2:d6+ ¥:d6 3.2.:d6 Ze8+ 4.g8W H:g8+ 5.%:g8+-] 2.g8W &5+ Otherwise 3.2g7+ will
decide. 3.%h7! [Logical try 3. Wg7? Eh6+ 4.20g8 Hg6 5.8d5 £a2 6.£g4+ Lg5 Black wins, as 7.h4+ is not possible; 3.£g7??
Bh6+] 3...2f6+ 4.2h6 25+ 5.2h5 2f6+ 6.2:h4 2f5+ 7.2h5 Lf6+ 8.2h6 [8.2g4?? W5+ 9. &h4 Le5+—+] 8...2f5+ 9.%h7
Lfe+ 10.2h8 2f5+ 11.Wg7! Ehe+ [11...216 12.2g4+ Ped 13.He2++-] 12.52g8 Hg6 [12.. Web+ 13.Wf7++-] 13.2d5 [13.g4+
f:g3 14.2.g4+ Dg5 15.f4+ W:f4] (15...2:f4 16.W:g6 £:g6 17.£2.:d6+-) 16.Ed5+ We5 17 H:e5+ d:e5 18.a7 H:g7+ 19.£.:g7
£e4=]13...8a2 14.8g4+ [14. Le4+? L:e4 15.W:g6+ ©:d5=] 14...2g5 15.h4+! This is possible due to the foreplan initiated
by 3.&h7 15...2:h4 [15...%:g4 16. W:g6+ L:h4 17. Wh7+! ga 18. Wd7+ g5 (18...22h5 19.W7+) 19.W:d8+ g6 20.W:d6+
W:d6 21.£2.:d6 £:d5+ 22.%f8+-] 16.W:g6 £:d5+ [16...W:d5+ 17.22h8 (17.%h7) ] 17.2h7 Le4 18.g3+ f:g3 19.f:g3+ L:g3
[19...%:g3 20.W:e4 (20.£2.e7+) ] 20.2f5+ 2f2 21.L.:e4+-.

A foreplan of 16 consecutive king moves allows White the pawn sacrifice 15.h4+.

1.2a2+2d7 [1...<f6 2.9g3=] 2.%)g3 Hal [2...b6 3.£b4 a5 4.g5 a:b4 5.g6 Ec8 6.g7=] 3.£b3 Edb1 4.£.c3 [4.£.c2? Hgl (or
4..8c15.£c3 Ha6) 5.2c3 Ha2—+] 4...Ha3 5.82c2 Hc1 [5...Egl 6.£.:e5= (6.2e2=) ] 6.£b2 Hel+ 7.2d5 [7.23? Ha2 8.£c3
Hg1!19.2b3 H:g3+ 10.&:g3 Ea3—+; 7.2f5? Za2 8.2.c3 Ec1 (8...2g1) ] 7...Ea2 8.£.¢3 Hc1 9.£b3 Ha3 10.£b2 [10.£d2? Eb1
11.2.c4 b5—+] 10...Ba5+ 11.2ed Eb1 [11...Hel+ 12.f3 (12.2f5) 12...Eb1 13.£.c3 Ha3 14.£c2] 12.£.c3 Ha3 13.£.c2.

We are back at the position after White's 5™ move. The bishops keep escaping. Draw.



D186-1 Pervakov, Oleg — 10,5 points
Websites: didok.ru, ruchess.ru, 2020
Dedicated to participants

of JT Oleg Pervakov — 60
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D186-2 Pervakov, Oleg — 9,5 points
MT Raaphy Persitz, 2019
15t Prize
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1.Wc1! Ipyrue otxoabl dep3sa HeyaauHbl: 1.Wd1? 2g4+ 2.5)f3 Wed+!=; 1. Wc5? g:h2=. 1...Be8+! (B cnyyae 1...2g4+ 2.5f3
He8+ focTaTouHO AnsA BoiMrpbiwa u 3.£2e3+—; 1...g:h2 2.9)f3+-) 2.8\e5 L4+ 3.9)1f3 Wed+ 4.2 e3! Ha 4.2f1? 3arotoBneHo
4..H:e5! 5.5 :e5 We2+ 6.52g1 ¢ peepuueckum 6...2h3!11—+. 4...Bc8! 5.Wh1! Cozgasan rposHyto 6atapeto «dep3b + NewKkay.
5...2.:f3+. PaameH Heobxoaum. Nocne 5...Ec2+ npasunbHo Tonbko 6.2d1! (Ho He 6.2f1? £h3!! 7.h:g3 Hc1+ 8.£:c1 Wel+!
9.4):e1=, nat co cBA3KOM cNoHa) 6...2.:f3+ (6...2h3 7.0d21+-) 7.%):f3 a2 8.h:g3+ g6 9.f5+!+—. 6.g:f3. Jlerkaa H1ubA Npu
6.9):f3? Wca+!=. 6...Hc2+ 7.2f1! Vke He Bbimrpoisaet 7.2d1? Hcl+! 8.2.:c1 Wd4+ 9.9)d3 W:d3+ 10. el Wc3+! 11.e2
Wea+ 12.2e3 We3+ ¢ BeyHbIM Waxom. KaxeTca, KOHTPUIPa YEPHbIX 3alna B TYNUK, HO y HUX B 3anace daHTacTUyecKas
MUHU-KOMBUHaUMA... 7...Bf2+! (7...W:e3 8.h:g3+, n maT) 8.£.:f2 Wel+!! 9.2:e1! HensbexeH nat npn 9.2:e1? g2+ =. 9...g2!
Nioboit xon, dep3a BeAeT K NaTy, YepHble TopxkecTBytoT? He TyT-To 6bin0! 10.2g1!! g:h1W 11.2f2! Kak kapanHanbHo
nomeHsanach cutyauma! Tenepb B NAeHy HOBOPOX/AEHHbIV YepHbIi pep3b. OcTaeTca ynosaTb Ha NaTosble MOTMBbI. 11...2h4
12.%)ga! Nnwb noteps spemenn 12.9)d3 £h3! 13.Hel £h4! 14.%5)c2 (nocne 14.f5? Lg5 15.%)c2 h5!= nobepa v Bosce
ynyweHa) 14...2h3 15.2e3 n 1.4. 12...2h3 13.2e3 h5! Mocne 13...2h4 14.f5! Lg5 15.f6! &:f6 16.2)f1 h5 17.2)g3+— dep3b
rmbHert B yray. 14.f5 h4 15.a4! b:a4 16.f6 a3 17.f7 a2 18.f8W W:g1+ 19.2:g1 a1W+ 20.2f2! Genbie Haueky: 20.0f1? Wg7+
21.W:g7=, nart. 20...Wgl+! 21.2e2! W:h2+ 22.2el! Bbixos B LLeHTP HaAo noarotosuts: 22.2d3? Wd6+! 23.W:d6=, ewe
oauH nat. 22...Wgl+ 23.2d2! (23.2Df1? W2+! 24.2:f2, cHosa naT) 23...Wh2+ 24.2c1! B ueHTp no-npexxHemy paHo:
24.%c3? Wes+! 25.22d3 Wd6+ =. 24...Wgl+ 25.0d1! (25.%c2? W:e3=). 1-0

1.97+! Try 1.E:e3? W4+ 2.2h5 W:e3? 3.g7+! ©h7 4.9)g5+ &:g7 5.2)f5+ fork and win, but 2...%:d6! 3.c8 W W:g6+!
4.%2:g6= stalemate (or 4.&h4 Whe+=). 1...£.:f7 2.c8W+ 2.8 3.Hea!l Not 3.Ee5? W4+ 4. Hg5 Heb! 5. W3+ Ef6!=; or 3.5Ef6?
Heb! 4. W3 Wh3+ 5.2g5 We3+ 6.5 Wh3+ 7.&f4 Whe+ 8.4)g5 (8.22g4 Wg7!=) 8.. K:f6+ 9. W:f6+ Wg7=; 3. H:e3? W:g6+
4.%:g6=. 3...8:e4 4. W51 Only draw after 4. % c3+? Hd4 5. W:d4+ W:d4 6.5):d4 La2! 7.5)f5 g8l 8.g7 &f7=.

4. \W:g6+!! (4..W:f5 5.g7#; 4. W4+ 5.W:f4 B:f4 6.g7#; 4...Bf4 5 We5++-) 5. W:g6! (5.2:g6? £h7+=) 5...Be6 6.9 e5!
(6.0h4? £f71=) 6...B:g6+ (6...2f7 7.9):f7#; 6...Ef6 7. f6#) 7.9):g6#.



D186-3 Pervakov, Oleg — 10 points
JT Janos Mikitovics — 70, 2020
1t Prize (Section “Win”)
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D186-4 Pervakov, Oleg — 9 points
AT “Victory — 75”, 2020
Special Prize
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1.82b8! Bb7! 1...e6+ 2.2g6! Hag (2...2d7 3.Eel! Wa5 4. He3(e2)!+—) 3.Eh8! E:b8 (3...e5 4.8:a8 W:a8 5.5e8+ f4
6.2h1 Wa4 7.8:d8+) 4.Be8+ 2d7 5.He7++—. 2.2f6!! H:b8 3.Bh7+ &)f7! 3...Le8 4.5)d6+ 28 5.2h8#. 4.K:f7+ 28!
4..%d8 5.5f8+ &d7 6.2:b8. Without pawn c6 it is a draw in the view of stalemate resources. With pawn c6 — a win, for
example: 6...Wal+ 7.s2g6 Wgl+ (7. Wel 8.Eb7+ &d8 9.£f3! Wgl+ 10.2f6 Wal+ 11.2g5 28 12.Hc7+ £b8 13.E:c6+;
7.. %f6+1? 8.2:f6+— no stalemate!) 8.%f7 Wf2 9.¢f6! Wh2 (9. Wh2+ 10.2g6+-) 10.Eb7+ &d8 11.29e7!+—. If now no knight
f5, White wins after 5. 215+ &d8 6.Ef8#. 5.2e7+! Another check is wrong: 5.2)d6+? ©d8 6.2f5 Wal+ 7.2e6 Wa2+!=.
5...%b7. The first mate after 5...2d7 6.8)c8+! &:c8 7.2f5+ No knight f5! 7...&2d8 8.Ef8#. 6.)d5+! 6.4)c8+? La8! 7.L2.:c6+
Eb7=, and no 8.Ef8# — knight c8! 6...&a8. If now no knight d5, White wins after 7.2.:c6+. 7.8)c7+ b7 8.5)a8+! (8.4):a6+?
&:a6=) 8...2:a8 9.£.:¢6+ (No knight d5!) 9...%b7. Second mate after 9...Eb7 10.Ef8#, no knight c8! 10.&f5! Zugzwang.

Try 10.£e4? Ed8! 11.£.:b7+ (11.8:b7 Ed6+ 12.2f7 Ef6+!= with mad rook) 11...2b8 12.2e7 Ee8+! 13.22d7 Ed8+ 14.€2¢6
Ed6+ 15.%c5 E:b6! 16.2.c6 BEb2! 17.£d5 Eh2! 18.2d6 Eh6+!=, and no position of Philidor! 10...W:c6. 10...Ed8
11.£.:b7+1+— (11.E:b7? Ed5+!=). 11.Ea7#.

Annihilation of white knight, battery play.

AHHUrMNAUMA 6enoro KoHa, baTapeinHasa urpa.

1.e3!! Mocnewaii He Toponacbk! 3amanunsoe 1.c4? E:e2 2.c5 onposepranoch nytem 2...Ec2! 3. 28 Ef2 4.c6 E:f3=. 1...K:f3!
B3aTtue apyroii newkn 1...E:c2 take Tpebosano ot 6enbix npesenbHo TouHol urpbl: 2.f41 &b3 3.f5 Ef2 (3...2c4 4.f6 Bf2
5.%e7 Hf3 6.2h6+-) 4.f6 Zf3! (4..2c4 5.2e7 Ef3 6.2h6+-) 5.e4 b 6.e5! (6.2e7? Ee3! 7.f7 H:ed+ 8.2d6 Ef4=) 6...&d5
7.2e7! a3 (7...2:e5 8.f7+ &d5 9.£2f6+— c nocneaytowmm f8W) 8.f7 Ea7+ 9.2f6!+— (Ho He 9.2e8? Leb! 10.f8+ &f51=),
2.£.d4! U nrpa passeTtsnseTcs.

A. 2...2a3 3.c3!! CHoBa He cnoms ronosy Briepes;: 3.c4? b4 4.c5 &b5=. Koponb noka He nomoLHKK: 3.2d7? Eh3!
(napba 3axoauT cnpasa) 4.c4 £b4 5.¢5 b5 6.c6 Eh7+=. CoBcem 6e33y60 3.e4? Hf4=. 3...&b3 4.e4. KoHeuHo, Henb3A
4.2d7? Beuay 4...2:e3=. 4...2c4 5.2d7! Nopa sbickasaTbca U Genomy Koposio. 5.e5? &d5 6.&d7 Ef7+ =. 5..2f1! (5.. Ef7+
6.2d6! Eh7 7.e5+-) 6.e5! A Tenepb B ciyyae 6.2d6? nagba 3axoaut cnesa: 6...2al! 7.e5 Ea6+ 8.2d7 &d5=. 6...2d5 7.e6
Eb1 8.e7 Eb7+ 9.2d8 £d6. Nnn 9...Eb8+ 10.2c7! Ea8 11.&2d7+-. 10.L2e5+! (Ho He 10.e82)+?=) 10...&:e5 11.e8W+. 1-0

B. 2...Ef7 3.c4! &b3 4.c5 ¢4 5.c6 2d5 6.c7 2d6 (6..Ef8+ 7.Le7! HEg8 8.22d7+-) 7.2c5+! (HO He 7.c8D+?=) 7...&:¢5
8.c8W+. 1-0
[Ba 3Kkcenbcnopa (MeaneHHbIN 1 BbICTPbIN) B ABYX 3X0-BapuaHTaXx C }KepTBamu CIOHa B pOpMe MUHMATIOPbI.

Two excelsiors (slow and fast) in two echo-variants with bishop’s victims in the form of a miniature.



D089-1 Didukh, Serhiy — 9,5 points
MT Gia Nadareishvili, 2021
15t-2M Prize
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D089-3 Didukh, Serhiy — 9,5 points
7" FIDE World Cup, 2019
15t Prize

1.Hc5 Wh8+ 2.%h3! 2.5c7? H)gb 3.9):g6 L:g6 4.81c5 (4.22g4 W:c7! 5.5:c7 stalemate.) 4...&h5! 5.&2h3 Wg8 6.He5 (6.27c6
Weg+! 7.8:e6 stalemate.) 6...Wh8 7.8cc5 (7.Eb5 &g+ 8.%2g3 Wha+! 9.€2:h4 stalemate.) 7...Wh7! 8.Hcd5 (8.Be6 Wi5+!
9.H:f5 stalemate.) 8...%c7 9.Ee6 Wg3+! 10.%2:g3 stalemate. 2...4g6! (2...2)f7 3.g6+ g5+ 4.E:g5+ :g5 5.g7 &f6 6.2g1+-)
3.9\:g6 Wf8!! (3...%:g6 4.2g4 Wh2 5.Ec6+ 7 6.Ec7+ Le6 7.81c2+—) Black immobilized the white knight and wants to
play f2 with two threats: Wh4+ and &:g6. To parry them White has to place his rooks on "a" and "b" files for the mating
attack. But when Rc5 moves it becomes a target for the queen. The rook will not survive after Wr7. 4.2a5!! Mutual
zugzwang with hanging pieces. 4.%):f8? stalemate. 4.Dh4? W:c51 5. H:c5 stalemate. 4.9e5? W5+ 5.&g2 W2+ perpetual
check. Thematic try 4. Eb5? Wf7! (4..Wf2? 5.2Eh1 &:g6 6.2al! see solution.) 5.90h4 Wd5!/ca! 6.5)g2 W:b5 7.5)f4+ :g5
8.8c5+ &:f41 9.E:b5 stalemate. 4.Eb1? Wf2! (4.. Wf7? 5.Dh4 Wd5 6.0g21+) 5.2h1 L:g6=. 4...Wf7 4...Wf2 5 Eh1!
(5.Eb1? Wh4+! 6.4):h4 stalemate.) 5...2:g6 (5...Wh4+ 6.22g2!) 6.Eb1! (not 6.Ec1? ©h5!= see the end of the line.) 6...&h5
7.6+ £h6 8.g7 &:g7 (8...2h7 9.Eg5) 9.Eb7+ &f6 10.Eb6+ e7 11.Ha7+ £d8 12.Eb8#. 5.0ha Wc7! (5. Wf1+ 6.5)g2!
W:c1 7.0)f4A4) 6.8)g2! (6.g6+? W:a5 7.g7 Wg5 8.Hc5 W:c5 9.g8W Wi5+! 10.5):f5 stalemate.) 6...W:a5 7.Hc5! (7.5)f4+? &:g5
8 Hc5+ &:f41 9.H:a5 stalemate.) 7...W:c5 8.5)f4+ L:g5 9.8 e6+ win.

The black queen is sacrificed for stalemate on 11 squares: actively on h4, g3, f1, 5, 8, e6, d5, c5, c7 and passively on b5 and
a5 — at least once on every file. To tame the queen White must force her accept sacrifices of his both rooks.

YepHbiit dpep3b KepTByeTca pagm naTta Ha 11 nonsx: akTMBHO Ha h4, g3, f1, 5, 8, e6, d5, c5, c7 n naccuBHo Ha b5 u a5 —
MWHMMYM Pa3 Ha Kaxkaol BepTuKanu. na ykpouweHusa ¢pepsn 6esble J0MKHbI NPUHYAUTb €r0 MPUHATL KEePTBbl 06eMX
nagen.

1.0b5+! 1.25+? &c7 2.0b5+ (2.2d1 £h5+!) 2..&b6! 3.c7 alW 4.c8W W1+, 1...2e8 (1...2c8? 2.2f4! alW 3.)a7#) 2.¢7
and two lines:

I 2...8:c7 3.9:c7+ 2f7 4.Bd7+! (4.Ef4+? g8 5.Ef8+ &h7) 4...g8 5.8d8+ ©2h7 6.Ed7+ £7! 7.8:f7+ g6 (7...Lg8
8. Hf8+!) 8.8Bg7+! Try 8.Hf6+? &:f6 9.2d2 a1¥ 10.£2.c3+ W:c3+ counter-check. 8...&:g7 9.£.e3 a1W 10.£.d4+! W:d4
11.9e6+ 2f6 12.5):d4=

II. 2...2h5+! 3.2f4! 3.0g2? £.:c7 4.9):c7+ 2f7 5.Hd7+ g6 6.Ed6+ 2f5 7.2d5+ Led 8.Ed4+ L:d4 9.2h6 Led 10.Lg7
L3+—+ 3...8.:c7+ 4.9):c7+ 2f7 5.2d7+ 2g8! (5..2f6 6.2e3 alW 7. 2.d4+) 6.Hd8+ Sh7 7.82d7+ £7! 8.H:f7+ g6 9.Ef6+!
Try 9.Hg7+? &:g7 10.£e3 a1 11.2 d4+ &:d4+ counter-check. 9...2:f6 10.£d2 a1¥ 11.8c3+! W:c3 12.5)d5+ Peb 13.9):c3=
This mechanism of two echo-forks sliding along the big diagonal demands a precise team work of three pairs of pieces.
When the black bishop brings the white king one rank higher, the white rook and bishop are sacrificed one rank lower to
avoid the counter-check.
ITOT MEXaHU3M ,BYX 3XO-BWUJIOK, CKO/Ib3ALWMX BAOAb 60/1bLWION AnaroHanu TpebyeT TOUHOM KOMaHAHOM paboTbl Tpex nap
¢duryp. Korga yepHblit cnoH cauraet 6en0ro Kopoas Ha O4HY ropM30HTasb Bbille, benble Nafbs U C/IOHA KepTBYOTCA
OMNAaroHanbto HUXKe, 4Tobbl U36eXKaTb KOHTpLaxa oT dep3s.



D089-4 Didukh, Serhiy — 9,5 points
The Problemist, 2019
15t Prize
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D089-5 Didukh, Serhiy — 9 points
9t FIDE World Cup, 2021
Special Prize

5 5 B
%

= 5+4

1.a7 D2+ (1...20F3+ 2.2 Ef1+ 3.%e3+-) 2.h2 BEh1+! 3.&g2!! Logical try 3.2:h1? Leb! (3...2d6? 4.2e5+ L:e5
5.9)c3+-) 4.a8W 2d5+ 5.W:d5+ &:d5 2z 6.2d2 Lc4 22 7.&g1 (7.2g2 ©b3! 8.b5 £:a2 9.£.c3 De3+!=) 7...&2d3! 8.b5 L:d2
9.b6 Nd4 10.Db4 Hf3+! 11.2f2 De5 12.b7 d7=. 3...Le6 3...0e3+ 4.L:h1 Leb6 5.a8W 2d5+ 6.W:d5+ L:d5 7.2d2+—.
4.a8W 2 d5+ 5.W:d5+ L:d5 6.%:h1 22 6...%c4 7.8.d2 zz with two lines:

. 7...2b3 8.b5 &:a2 9.£.c3! He3 (not a check) 10.b6+—

Il. 7...2d3 8.b5 &:d2 9.b6 Nd4 10.\b4!+-

The king doesn't capture the sacrificed rook immediately so as to lose a tempo and stay in the corner away from the
knight’s checks. This leaves the black knight only one path to chase the pawn, but in each line the surviving white piece
stops the knight.

Kopo/ib He NpMHMMaET KepTBY Nafibk cpasy, YTobbl NOTOM KOHb He MOTPEBOXKUA ero WwaxaMu. M3-3a 3Toro y KoHA ocTaeTca
TO/IbKO OfiHa TPOMMHKaA A1A MOrOHM 3a MELLKOM, HO B KaXK0M BapuaHTe BbiXXusluan 6enas ¢urypa octaHaBAnBaET ero.

1.22 c3 2.5)g6 215 3.Dh4+ Led 4.9)g2 2 (4...2f3 5.£d41) 5.L£e3 2f3 On e5 the pawn is an obstacle to stalemate. White
can annihilate it in two ways. After the pawn sacrifice in the try another obstacle appears. The paradox: is White needs his
pawn to remove it! 6.e6!! Logical try 6.De1+? &:e3 7.49):c2+ &d2 8.0)d4 £d7+ 9.e6! (9.2g2 £.c6+ 10.2h3 e1W) 9...L:e6+
10.%g2 £2d5+ 11.%h3 e1E!—+ 6...2.c4 7.9 el+ 2:e3 8.9):c2+ Rd2 On e6 the pawn is not an obstacle anymore. The only
obstacle is the black bishop. So, White decoys it to the adjacent diagonal, thus substituting good defense Bd5 for the
insufficient one Bc6 (the Roman theme). 9.e7! Logical try 9.9)d4? £.:e6+ 10.2g2 £d5+ 11.&h3 e1E!9...2b5 On e7 the
pawn is an obstacle again. White has to drop it. 10.e8W! Logical try 10.)d4? £d7+ 11.2g2 £.c6+ 12.2h3 e1W 13.5)f3+
£.:f3—+.10...2.:e8 11.0\d4 £d7+ 12.2g2 L.c6+ 13.2h3

. 13...e1X 14.5):c6 the Roman theme.

II. 13...e1W 14.5)f3+ &3 stalemate.

The final 4 moves are from a study by V.Vinichenko 1983 (Ka3/Ke1l). The original content consists of logical ideas with
different obstacle after every move of the white e-pawn.

MocnegHue 4 xoaa u3 sTioaa B.BuHnyerko 1983 (Ka3/Kel). OpurmHanbHoe coaepyaHue 3TioAa 3aK/N104aeTca B 1OMMYECKnX
naeax c pasHbiM NPenATCTBMEM MOC/E KaXKaoro xoaa 6en0oi newwkmn «ey.



D034-1 Timman, Jan — 10,5 points
JT Pal Benko — 90, 2019
15t Prize
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D119-4 Pasman, Michael — 10 points

JT Jan Timman — 70, 2021
15 Prize

+ 7+7

1.2d1 [The reasonable looking 1.Ee3+? g4 2.8d3 fails to 2... 2...f6! 3.£.:f6 Le7 4.2a1 £g5=]

1...2c12.%e2 h3 [2...2g2 3.2.d4+]

3.Bg1+ [Not 3.c4? g2 4.c5 £a3! draw]

3...%h2 4.2 [4.Ef1? Dg2=]

4..f6!5.2:f6 £b2 6.c3!! [The logical try: 6.2:b2 d1&)+! 7.E:d1 a1W! 8.Eh1+ £:h1 9.2:a1 h2 10.2g3 Pgl 11.2d4+ £h1
12.2.¢5 b:c5 13.€f2 c4 14.b6 ¢3 and stalemate can no longer be avoided]

6...8:c3 7.£.:c3 d1&)+ [2nd main line: 7...a1% 8.8:a1 (8.£:a1? d1D+! 9.1 He3+ 10.2f2 Hd1+=) 8...d14)+ 9.1 H):c3
10.Ea5!! zz 10...20d5 11.Ea3 &\c7 12.8b3 £d5 13.2f2 and wins]

8.8:d1a1W 9.Eh1+! &:h1 [9..W:h1 10.Le5#]

10.£:a1 h2 11.2g3 &gl 12.2d4+ 2h1 13.2.¢5! b:c5 14.2f2 ¢4 15.b6 ¢3 16.b7 [and mates in three.]

1-0

1.f8W1 [1.£.:f2 H:b1 2.8:b1 H:a6] 1...Bad+! [1...2:f8 2.E7b2+ &c3 3.£.d4+ Dc4 4.8c2+] 2.H1b4! [JT: White must interpose
the right rook] [2.%f3 f1%+; 2.E7b4 E:b1] 2...2.:f8 [2...E:b4+ 3.:b4] 3.K:a4 £b6! First Nowotny interference. [3...Hal

4 Bca+ ©d2 5.£.:f2+-] 4.B:b6 Now attack on f2 temporary removed, so black has time for : [4.£:b6 closes b-file and now
Hc4+ is no more threat, so 4...f1%W—+] 4...Ea1! but 5.Ec6+! again attacking f2 5...£.c5! Second Nowotny - puts new
interference between the bishop and f2 pawn [5...%b3 6.£.:f2] 6.8:c5+ [6.2:a1 e1%+] 6...&b3! 7.8a3+!! [JT: The highlight
of the study] [7.8:a1 e1W+ 8.H:e1 f:e1W+=; Thematic try: 7.Ec3+ Other way to free the bishop to capture f2 pawn, also in
price of 2 rooks , not works 7...&:c3! (7...2:a4? 8.£.:f2+-) 8.2.:f2 H:ad+ 9.f3 H:a6=] 7...&:a3 [7...H:a3 8.Eb5+ ©c4 9.2.:2
&:b5 10.e7+-] 8.Ea5+! [8.Ec3+ b2/b4 9.£.:f2 £:c3=] 8...2b4 [8...&b3 9.£:f2 H:a5 10.e7+-] 9.&.:f2! First interference
through a5, white captures f2 pawn in a price of 2 rooks 9...&:a5 [9...e1%+ 10.£.:e1+ H:e1+ 11.2d5 &:a5 12.a7 HEd1+
13.2c6! Ed8 (13...Ec1+ 14.2d7) 14.e7! Ee8 (14...Eh8 15.&b7+- He8 16.a8W+; 14...82a8 15.2b7 Hg8 16.a8W+) 15.2d7
Zag 16.e8W+-] 10.a7 e1W+! [10...2b5 11.e7] 11.8:e1+ 2b6 [11..E:el+ 12.2d5! Ed1+ 13.&c6! Zd8 14.e7! see comments
to 9-th move of black as Main 0.00/0 ] 12.£2a5+! [JT: Umnov] Second interference on a5 [Try: 12.£.c3 Zad+!= 13.2d5 Lc7]
12...B:a5 [12...&:a7 13.e7 ©b7 14.e8W; 12...%:a5 13.a8W+] 13.e7 E:a7 14.e8W+-. Main part of the study there is struggle
against black f2 to prevent promotion. Black sacrifices knight+bishop (2 Nowotnies) and the white on his turn sacrifices 2
rooks and finally captures on f2. Then white passes to counter-attack in order to enable white's pawn promotion with 2
interferences on a5 — first with white rook and second with white bishop.



